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7] 0=1, 1+t 0= —— 1+ ——e = ——
sin” 6 + cos + tan cos2 @’ * tan20  sin%6
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sin(a &+ 3) = sina cos B % cos asin 3
cos(a £ B) = cos a.cos B F sinasin B

tan(a £ §) = tana + tanf
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sin2a = 2sin @ cos a
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cos2a = cos’ o —sin®a = 2cos’a— 1 = 1 — 2sin’a

2tana
tan2a = —
1—tan“«
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sin3a = 3sina — 4sin® o, cos3a = 4cos’a—3cosa
3tana — tan®a

tan 3o = 1—3tan?a
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sin(a + B) + sin(a — B)

sinacosf = !
cosasing = S+ F) - sin(a — f)
cosacos g = 2@t B) 42- cos(a — f)
sinasin g = — <P - cos(e — )

201




202

(6) T, EEBICRBTAR

sina + sin 8 = 2sin atp cos a—F
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sina — sin 3 = 2cos +5 sin 2 A
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cosa + cos B = 2cos a;—ﬂ cos e ; s
cosa —cosf3 = —2sina;ﬂsina;’3
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(1) m = 3.14159 - - -
(5) v/5 = 2.23607 - - -

(2) e =2.71828. -

(6) log2 = 0.69314 - --

(3) V2 =1.41421--.
(7) log3 = 1.09861 - - -

(4) V3 =1.73205- - -
(8) e1=0.36787- -




